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is the postpositive explanatory use of the particle GAR, meaning “For” plus the third person singular perfect passive indicative from the verb GRAPHW, which means “to write” and in the perfect passive voice “to stand written.”

The perfect tense is an intensive perfect which conveys the idea of a present state resulting from a past action.


The passive voice indicates that the Scripture receives the action.


The indicative mood is declarative for a simple statement of fact.

is the conjunction HOTI, which is used after verbs of seeing, knowing, thinking, saying, feeling to introduce an objective clause or indirect discourse.  It is translated “that.”
 is the nominative subject from the masculine singular proper name ABRAAM.

is the accusative direct object from the masculine plural adjective numeral DUO, meaning “two” and noun HUIOS, meaning “sons.”
 is the third person singular aorist active indicative from the verb ECHW, which means “to have.”

The aorist tense is a constative aorist which simply states the action as a fact without reference to its beginning, its end, its progress, or its result.


The active voice indicates that Abraham produced the action.


The indicative mood is declarative for a simple statement of fact.

“For it stands written that Abraham had two sons,”
 is the appositional accusative masculine singular from the cardinal adjective HEIS, meaning “one.”
 is the preposition EK plus the ablative of agency from the feminine singular article and noun PAIDISKĒ, which means “a young girl, a maiden; by a young female slave.”  This is a reference to Hagar.  This same word is used in the Greek translation of the Old Testament (the Septuagint).  The phrase is translated “by a young female slave.”
is the simple connective use of the conjunction KAI, meaning “and” plus the appositional accusative from the masculine singular cardinal adjective HEIS, meaning “one.”
 is the preposition EK plus the ablative of agency from the feminine singular article and adjective ELEUTHEROS, meaning “by the free.”  This is a reference to Sarah.

“one by a young female slave and one by a free woman.”
Gal 4:22 corrected translation
“For it stands written that Abraham had two sons, one by a young female slave and one by a free woman.”
Explanation:
1.  The Old Testament story of these two events is told in:


a.  Gen 16:15, “So Hagar bore Abram a son; and Abram called the name of his son, whom Hagar bore, Ishmael.”

b.  Gen 21:2, “So Sarah conceived and bore a son to Abraham in his old age, at the appointed time of which God had spoken to him.”

c.  Read Gen 16:1-18:15.

2.  Paul sets up an analogy between Abraham’s two sons (Isaac and Ishmael) and Israel and the Church.


a.  Ishmael represents unbelieving Israel, who would rather have the Mosaic Law than a personal relationship with the Lord Jesus Christ.


b.  Isaac represents the Church, which has a personal relationship with the Lord Jesus Christ rather than the Mosaic Law.


c.  The Galatians now think of themselves as great believers of the Mosaic Law.  They think they understand the Law and how it applies perfectly to the Church.  They are in strong delusion.


d.  Paul uses one of the key stories of the Torah as a teaching analogy regarding Israel and the Church.  Throughout the entire book of Galatians, Paul has been pointing out the separation between the Mosaic Law and the mystery doctrine of the Church Age, the difference between Israel and the Church, and the difference between the legalistic Jewish believer and the grace orientation of the royal family of God, in which there is neither Jew nor Gentile.


e.  Paul now uses the legalist’s own “Scriptures” against them to refute their erroneous contention of superiority.


f.  Sarah is analogous to the Church Age.  She has given birth to Isaac, who represents by analogy every Church Age believer.  Isaac was born as a free man.  In the same respect, we have been born again in freedom from slavery to the control of the sin nature.


g.  Hagar is analogous to the Jewish Age.  She has given birth to Ishmael, who represents the Jewish unbeliever.  Ishmael was born a slave.  In the same respect, all those who fail to believe in Christ, as Ishmael did, remain in slavery to the sin nature.


h.  Ishmael also represents those believers who have been given their freedom (for Ishmael grew up as the son of Abraham and so had human freedom all his life) and yet reject the benefits of that spiritual freedom and continue to allow the sin nature to control their lives through rejection of the word of God.  This was the problem of the Galatians, and is why Paul uses this analogy.
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